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When 9 ohm, 6 ohm, 10 ohm resister is connected in series. Find the power dissipated in 6 ohm
resister.
a) 20 watts  b)24 watts  ¢) 48 watts d} 30 watts

Calculate the current and resistance of 50w, 100volt electric bulb
a) i=1 amp, R=200 ohm b) i=0.5 amp, R=100 ohm
¢) i=0.5 amp, R=200 ochm d) i=1.5 amp, R=200 ohm

Thevenin’s voltage is .56v, Rth is 7.22, load =20 ohm find the load current.
a) 05amps b)0.7amps ¢)02amps d) 1 amps

When current and voltage is in phase in the A.C circuit then what is the power factor
a) 2 b)0.8 «¢)1 d) 0.7

In a series circuit R=5 ohm, L=20mh, frequency=1000 hz. Then find the value of capacitance at
resonance condition.

a) 1.27x10%fared b) 0.27x10%fared

¢) 2.26x10%ared d) 1.27x10%fared

60 kvA single phase transformer gave the following result
Oc test: 3000v applied to primary and power taken 430 volt
Sc test: primary input power is 525 watt
Find efficiency at half load at 0.7 power factor
a) 97.77% b) 95.55%
c) 97.398% d) 96%

An impedance 6+)8 is connected across 220v, S0hz mains in parallel with another circuit having|
an impedance 8-6j ohms. Find total current taken from mains

a) 30amps b) 25 amps

¢) 20amps d)31.02 amps

In a pure capacitive circuit the power factor is 0 lead. What is the phase angle?
a) Cos 60° b) sin 90°
¢) Cos 90° d) sin 60°

What kvA rating is required for a transformer that must handle a maximum load current of 8§ A
with a secondary voltage of 2 Kv?
a) 4kvA b) 0.25kvA ¢) 16kvA d) 8kvA
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A 470 resistor and a capacitor with a capacitance reactance of 120€) are in series across a AC
source. What 1s the circuit impedance 7. ?
a) 129Q b) 12.9Q ¢) 169Q d) 73Q
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Resistors 2,3,4,5 ohms are connected in parallel. The total power absorbed by resistor is 200w.
what’s is the supply voltage?

ay 12.5v b) 10.5v c) 15v d) 20v
12 A field excitation of 20A in a certain alternator results in an armature current of 400A in short
circuit and a terminal voltage of 2000V on open circuit. The magnitude of the internal voltage
drop within the machine at a load current of 200A is
a) 1V b) 10V
c) 100V d) 1000V
13 The DC motor, which can provide zero speed regulation at full load without any controller is
a) Series b) Shunt '
¢) Cumulative Compound d) Differential Compound
14 The rms value of load phase voltage is
a) 106.1V b) 141.4V
c) 2122V d) 282.8V
15 A 1200 resistor must carry a maximum current of 25Ma.its rating should be atleast

a) 4.8 watts b) 150Mw
¢) 15Mw d) 480mW
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